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TH4 | B 6 AR L O JIE AL DO 7 T3

TEHEX Sy - THE - R B {7 ¥ & & # il bl A iR
FLLt - =X 1 47, 303, 100
LT = 1 95, 769
HRHEI T = 1 9,612 |#EH! 30 m3
i A7 iy b PR PEEME 5, 000m3A T ;
P v T = 1 86, 157 | F&Hh 30 m3
A2 A couE
b 30 m3
0 Cadl- EHIRY £5T) ;
TR T 2 1 15, 267, 622
e+ T 2 1 1,472,190 |FRIEY (FEHD 1 X
LY A7 iy b PR PEEME 5, 000m3AH ;
i 1 X
Twb REHE
HEL 1 2V
T R RHRIEAmLL E
A Lavy)-h 1 2V
18-8-40 (f=)F) W/CHEEML ;
HmEEE 1 =X
T wb AT 1 X
0 Cadl- EHIRY £5Te) ;
e 1 =
B2 A couE |
VAR VARV RN EVZA S VAR PYZ ) = 1 13,282,512 |BLIGFTHAE ) -} 50 m
(A) 18-8-40 (&%) JElE 85cm M 35cm
BEFT/ A 1kay)) -} 1 E10
(C) 18-8-40(fE47) & 30cm ;
K7™ vy ) F 260 m2
2000kg/fEILL T #2750 ;
JA - B3Rz 7Y =] 136 m3
18-8-40 () ;
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TH4 | B 6 AR L O JIE AL DO 7 T3

TEHEX Sy - THE - R B {7 ¥ = & # il pall 2! EN
JIA - BEARE () 146 m3
FARAG RC-40 ;
H HihR 2 m2
TR AHERT B M t=10 ;
Bl HT Rbiav - 50 m
(A) 18-8-40 (%) 1E100c m ;
27 K7 V=) 50 m2
t=10 AHES0 ;
SRR 6 1%
FALA & TR EMRE (34) Xt ;
R EY L 2y 1 96, 960 | ¥t 13—} 1 T
(A) 18-8-40(FE47) & 30cm ;
B 1) -} 1 T
(B) 18-8-40(FEi4) & 30cm ;
TR T B 1 415,960 | HERHT 2 &
$S400 H300 HERE = (HLkE) 8.5m ;
BERAR 9 bia
SS400 R BRI W=250 t=5 £ X2.18m ;
PEREE = T 2 1 3,727, 735
LT F I HiERE T =X 1 3,727,735 |2v7)-} 54 m3
N INy MIERE BEEEOEHE S 1m 18-8-40(F
)
H HihR 5 m2
TR AHERT B M t=10 ;
1B 7 m
FF ($5 " #4) 200 X5 ;
P 1 2
— A
25 1 =Y
BRERy MLEE
KRN A7 3 m
VU ¢ 100 ;
7797 " =} 5 AT
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TH4 | B 6 AR L O JIE AL DO 7 T3

TSy « TfE - FER B {7 ¥ & & # A bl A B
GRS ¢ 1004 ;
fHmpakE L = 1 348, 977
BRI T = 1 348,977 |y L a7} 5 m2

18-8-40 (&) W/CHEEMEL HE 10cm ;

/7)) =} 3 m3
18-8-40 (Fi47) ;

t:ﬁl\'/:é:’ 2 m
SNEEIFE ¢ 500 [EELBRERL ;

i53i0) 0.12 t
SD345 D13 ;

i53i0) 0.1 t
SD345 D16~25 ;

H HihR 2 m2
TR AHEET B M t=10 ;

1B 6 m
CF (Yt #1) 200X 5 ;

BRI 2 (E10
9z’ = (D13 L=400) ;

Tl e 1 =X
— I NS

Eo pailsyisl 1 m2
R ¥VRIIE R EEE A

R T = 1 204, 734
TA7 7 M2 T = 1 204, 734 | F/EME (FEE - KT ER) 4 m2

BAI7yv47/ RC-40 {1 EVJE 100mm ;

TR s (BE - BRI 72 m2
BAIT7yv47/ RC-40 {1 EVJE 150mm ;

g (I - BIF ) 9 m2
AR A2 (20) AH%5/E 50mm 1. 4mPd |3
.OmELF

& (B - BIFED 76 m2
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TH4 | B 6 AR L O JIE AL DO 7 T3

TEHEX Sy - THE - R B {7 ¥ & & # A bl A iR
AR A2 (20) AH%E/E 50mm 1. 4mPd |3
.OmELF
HEE L = 1 1,616, 258
e LT it 1 925,773 | av)-MHEXE YU L 66 m3
HEATREEY) Mo T (RER T - (RARE <5
/) ) -MEEEBUE L 0.2 m3
BmtsEY (Y72 L)
ERZE R LD 52 m
TAT7MEZERR 15emELl T
SRR AL (N 51 m2
TAT7VMERZE IR Bf2ERRIE 5 cm ;
BRI ES 100 %
Mg
BEKE R E T X 1 97,700 |ta-hiEHFS 2 m
SEE1FE ¢ 500 360° X FLfE
TR AL T = 1 592, 785 | ki 66 m3
av ) -bik (BERR)
DO 1 m3
/) -hik Bk
DO 3 m3
TA77 bk (2. 35t/m3) ;
By 66 m3
av ) -bik (BER5)
By 1 m3
/) -hik Bk
By 3 m3
TA77 bk (2. 35t/m3) ;
Bl A S i 100 1%
KA+
% T = 1 26, 042, 005
THEHER T =X 1 3,131,415 | THAHEKK L 1 =X
HRbF 1 =
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TH4 | B 6 AR L O JIE AL DO 7 T3

TEHX4y « Tfd - FER B Az W B & #A i il R

+m 5 1 =X

R T ES 1 19,331,680 | #HIAR 1 A

K T = 1 255,060 |avr = A7 1 =

T5VEBE Ik T = 1 740, 000 | J5{EE5 1E7 22 1 =

AEEHE T Y 1 2,583, 850 | AWk B Y 5 1 =
[ERAE Xy = 1 47, 303, 100
HiE 2 2 1 7, 139, 840
BISTIGE: = 1 3,010, 840

TERE 2 1 1,932, 840 | AFRAEHIENL L 1 =

EERC T Sy A ERVA e <y 1 =

IER M TR 1 =

L PN R i e = 1 541,000 |BREFHAE 1 =

REFAEE 1 X
BGRESGESE (5 L) = 1 537, 000
B (FEHL) = 1 4,129, 000
T = 1 54, 442, 940
Bl gy 2 1 16, 396, 000
T =5l = 1 70, 838, 940
— R A 2 1 12, 581, 060
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